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INSTRUCTIONS AND INFORMATION

1.

This question paper consists of FIVE questions and 5 pages including this cover page.
Answer ALL the questions.

Read ALL the questions carefully.

Start EACH question on a NEW page.

Leave a line after each answer.

The mark allocation generally gives an indication of the number of facts required in you
answer.

Number the answers correctly according to the numbering system used in this question
paper,

Write neatly and legibly.
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QUESTION ONE [MATCHING]

Match the description provided in column A with the term from column B that best suits
the description given. Write only the letter of the term next to the question number of the

description.
COLUMN A COLUMN B
' 1.1.Connects devices in a small area using Infra-Red, Bluetooth and WiFi. AEMI ‘
1.2.Signals travellmg along WIres may be mtercepted by outsiders. B Backbone
1.3.A device used to join two cables. It may also amplify or boost the signal. C WLAN
1.4.When several LAN segments hang of one fibre optic cable it is called... D Wiki

1.5.The layout of computers in a network is called a .......

E_Proxy Server

1.6.Set of rules that governs the way information travels from one point to the
next in a network e.g. Internet.

| F RSS Feed

1.7. A unique website where users may contribute or edit artlcles

G Content Aggregator

1.8 Slgnals from machmery may corrupt signals travelling in wires, H WPAN
1.9 A website or software that coIIects speC|f|c information from other websn'ces° I Eavesdroppmg
1.10. A server maintained by an ISP or business through which all web J Weblog .
content passes. !
- K Router :
| L web Server
M Repeater
| N Protocol
[10] | O Topology

SCENARIO

school.

using coaxial cables.

will be connected wirelessly.

Your school has decided to upgrade the IT Department and at the same time
purchase computers for every classroom in the school. The office area will be
furnished with 10 computers for admln use and a server that will run the entire

The computers in the office area wnll be connected to an Ethernet LAN network

The computers in the IT room will be connected to each other in a Server based
Star topology using Fibre optic cables. The rest of the computers in the school
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QUESTION TWO_ [Networks and Communications Technologies]

Answer the following questions based on the scenario above.
2.1,  State two disadvantages of using a network. (2)

2.2, Explain the term Centralization and show how it is an advantage to the school.  (2)

2.3.  Discuss the two main classifications of communication media. Give examples of each
to illustrate your answer., (4)

2.4.  State one advantage and one disadvantage of using coaxial cables as opposed to
UTP, (2)

2.5.  State one advantage and one disadvantage of using fibre optic cables. (2)

2.6,  Describe the following network classifications:

2.6.1. MAN (1)
2.6.2. PAN (1)
2. 6.3. WLAN (1)
2.7. What type of server would the school choose to run all departments. (2)
2.8.  Why is it dangerous to use a Peer to Peer network in the IT room. (1)
2.9.  Highlight the distinct differences between Bluetooth, Wi-Fi and Infra-Red by first
defining it . (3)
[21]
QUIESTION THREE [Internet and WWW]
The office will be connected to the internet via the ISP and all other computers will
receive internet access through routers connected the server in the office area.
3.1. State two services provided by an ISP. (2)
3.2. Differentiate between a Webpage and Website. (2)
3.3. Describe the purpose of the following websites. Give an example for each:
3.3.1. Portal (2)
3.3.2. Weblog (2)
3.4. Explain the difference between a browser and a search engine by using an example for
each. - (4)
3.5. Explain what a RSS feed is and how it is beneficial to a user. (3)
[15]
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QUESITON FOUR [PROGRAMMING AND ALGORITHM DESIGN]

The school requires software to manage the different departments of the school. You, as
an IT learner, are required to assist in developmg software to run the school.

4.1. The Sports department wants your assistance to develop an algorithm that uses the full
name (Surname Firstname/s) of a participating athlete, to generate a Registration
Number.

This number is used to identify the athlete by making tags with the number printed on
it . This registration number contains alphanumeric characters. Your task is to examine
the already written code and give input by answering the questions: '

1. procedure TForm1.ButtoniClick(Sender: TObject);

2. Var fName, cde : String;

3. len,mid,f,s: Integer;

4. begin ‘

5. fName := InputBox('Enter Name','Surname then firstname',”);

6. len := Length(fName);

7. mid :=len div 2; ( '
8. if odd(len) then

9. begin

10. mid = mid + 1;

11. cde :=copy(fName,1,1) + copy(fName mid,1) + copy(fName,len-2);

12. end

13. else

14. cde :=copy(fName,mid,1) + copy(fName,mud+1 1) + copy(fName,len-1);
15. f:=len div 10;

16. s:=len mod 10;

17. cde := IntToStr(f) + cde + IntToStr(s),

18. RichEditl.Lines.Add(cde);

19. end;

4.1.1. Trace the code above to determine the registration number formed when the input is:
(n.b. you do not have to do a complete trace table for each input.)

a) Jonathan Francis (2) ( \‘
b) Hlakanipho Duma (2)
¢) Tony Cho (2)

4.1.2. Describe in not more than SEVEN steps exactly what is being done with the input to
obtain the desired registration code. : (7)

4.1.3. You need to modify the program so that it removes spaces found in the registration

number formed. Write the Delphi statements to solve this problem. After which line
would you insert the new statements. (6)
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4.2. The library is running a competition to promote reading. All legitimate library uses must
enter their date of birth as a string in the format(YYMMDD) e.g. 810515 or 020903,
From the examples above, 81 represents the year 1981 and 02 represents the year
2002. The criteria for qualification is as follows: '

The age of the learner is calculated in years.

The age must then be tested to see if it is a perfect number. A perfect numberis a
number whose factors add up to the number itself.

Example: The factors of 6 are 1, 2, 3 and 1+2+3 = 6,

Write an algorithm/pseudocode or a Delphi program to determine if a user qualifies or
not. (11)

[30]

QUESTION FIVE [INTEGRTED SCENARIO]

The principal of your school is not very keen on the whole school being on the internet.
Answer the questions below based on some of his fears.

5.1. Give two dangers of social networking in school. (2)
5.2. During transfer of files between learners and downloading from the internet, one has to
be very careful of the content received and sent. List two security measures that one

can employ to keep their computer protected from unwanted content. (2)

5.3. Define the terms related to Internet usage:

5.3.1. Spam (1)
5.3.2. Spyware (1)
5.3.3. Adware (1)
5.3.4. Bandwidth (1)
5.4. What do the following acronyms stand for:
5.4.1. HTTP (2)
5.4.2. FTP (2)
5.4.3. TCP/IP 2)
GREENBURY SECONDARY SCHOOL
P DEPARTUENT OF NATHS & SCIENCES [14]
E‘%?@ H.O.D. MR L PHLAY
%;%),/? .

S {/z{,
............ i
#Z

i 0‘7;"/*”(,%’ FINAL TOTAL : 90+3x2=60
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